

Purchasing Divison 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## State of West Virginia Request for Quotation

01/27/15 12:08:01

Proc Folder: 53818 Doc Description: Addendum #2 - GALVANIZED STRUCTURAL STEEL Proc Type: Central Purchase Order Version Solicitation No Solicitation Closes Date Issued 3 CRFQ 0803 DOT1500000028 2015-01-16 2015-01-27 13:30:00

**BID CLERK** DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION 2019 WASHINGTON ST E

CHARLESTON US

WV 25305

Vendor Name, Address and Telephone Number:

WEST VIRGINIA STEEL CORP. PO BOX 1029 POCA WV 25159

(304) 755-5638

\*Pieces that have no no sketches Assume not to have any holes

\*Prices include Sharpy V Notch Test

FOR INFORMATION CONTACT THE BUYER

Misty Delong

(304) 558-8802

mlsty.m.detong@wv.gov

All offers subject to all terms and conditions contained in this solicitation

DATE 1-26-15

Page: 1

FORM ID : WV-PRC-CRFQ-00

DIVISION OF HIGHWAYS
DISTRICT EIGHT

1101 NORTH RANDOLPH AVE

ELKINS

WV26241

US

DIVISION OF HIGHWAYS
DISTRICT EIGHT

PO BOX 1516, 1101 NORTH RANDOLPH AVE

ELKINS

WV 26241-1516

US

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	W12X53,GALVANIZED W-SHAPED STRUCTURAL STEEL,	2367.00000	LB	\$1.37	\$3242.79

Comm Code	Manufacturer	Specification	# #
11101704			(No Holes)

Extended Description:

W12X53 GALVANIZED W-SHAPED STRUCTURAL STEEL, AASHTO M270, GRADE 50 SHIP 8 PCS @ 5'-7"

	A CARLO SA CARLO SA CALLO SA CARLO SA C	Complete the second	Malalana (K. C. Samuel and C.
DIVISION OF HIGHWAYS DISTRICT EIGHT 1101 NORTH RANDOLPH A	AVE	DIVISION OF HIGHWAYS DISTRICT EIGHT PO BOX 1516, 1101 NORTH RANDOLPH A	AVE
ELKINS	WV26241	ELKINS WV	26241-1516
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	W6X25, GALVANIZED W-SHAPED STRUCTURAL STEEL,	2792.00000	LB	\$1.26	\$3517.92

Comm Code	Manufacturer	Specification	Model #	
11101704			No Holes	

Extended Description:

W6X25, GALVANIZED W-SHAPED STRUCTURAL STEEL, AASHTO M270, GRADE 50 SHIP 20 PCS @ 5'-7"

Broger Carlotter St. St. St.	种。1954年1957年1954年1954年195			
DIVISION OF HIGHWAY	rs	DIVISION OF HIGHWA		
1101 NORTH RANDOLF	1101 NORTH RANDOLPH AVE		PO BOX 1516, 1101 NORTH RANDOLPH AVE	
ELKINS	WV26241	ELKINS	WV 26241-1516	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
3	MC18X42.7, GALVANIZED	4270.00000	LB	\$1.37	\$5849.90

Comm Code	Manufacturer	Specification	Model #	
11101704		/ No Hole	s	

Extended Description:

MC18X42.7, GALVANIZED STRUCTURAL STEEL CHANNEL, AASHTO M270, GRADE 50 SHIP 5 PCS @ 20'-0"

CHAPTER TO THE STATE OF THE STATE OF		Late 1 Company of the	and the company was a second of the company of the
DIVISION OF HIGHWAYS DISTRICT EIGHT		DIVISION OF HIGHWA	AYS
1101 NORTH RANDOLPH	AVE	PO BOX 1516, 1101 N	ORTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
us		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	C7X9.6, GALVANIZED STRUCTURAL STEEL CHANNEL	199.00000	LB .	\$4.67	\$929.33

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### **Extended Description:**

C7X9.8, GALVANIZED STRUCTURAL STEEL CHANNEL, AASHTO M270, GRADE 50 SHIP 8 PCS @2'-6 1/2" FABRICATED IN ACCORDANCE WITH SKETCH #1

[14](A)[2][4][4][4][4][4][4][4][4][4][4][4][4][4]			
DIVISION OF HIGHWAYS	3	DIVISION OF HIGHWAY	rs .
1101 NORTH RANDOLPH	AVE	PO BOX 1516, 1101 NO	RTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
us		US	8

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	HSS 8"X4"X3/16",GALVANIZED STRUCTURAL STEEL TUBING	672.00000	LB	\$2.34	\$2040.48

Comm Code	Manufacturer	Specification	Model #	
11101704				
2				

#### Extended Description:

HSS 8"X4"X3/16", GALVANIZED STRUCTURAL STEEL TUBING, (14.53#LF),ASTM 500 SHIP 2 PCS @30"-0" FABRICATED IN ACCORDANCE WITH SKETCH #2

AND SELECTION OF THE PARTY OF	Controller William Controller Con		and the state of the second of
DIVISION OF HIGHWAY	⁄s	DIVISION OF HIGHWAY DISTRICT EIGHT	'S
1101 NORTH RANDOLF	PH AVE	PO BOX 1516, 1101 NO	RTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
US		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	HSS 6"X4"X3/16",GALVANIZED STRUCTURAL STEEL TUBING	1090.00000	LB	\$1.86	\$2027.40

Comm Code	Manufacturer	Specification	Model #	
11101704		71		

#### Extended Description:

HSS 8"X4"X3/16", GALVANIZED STRUCTURAL STEEL TUBING, (14.53#LF),ASTM 500 SHIP 4 PCS @18'-9" FABRICATED IN ACCORDANCE WITH SKETCH #3

DIVISION OF HIGHWAYS
DISTRICT EIGHT
1101 NORTH RANDOLPH AVE
ELKINS

WV 26241

US

DIVISION OF HIGHWAYS
DISTRICT EIGHT
PO BOX 1516, 1101 NORTH RANDOLPH AVE
ELKINS

WV 26241-1516

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	HSS 8"X4"X3/16",GALVANIZED STRUCTURAL STEEL TUBING	325.00000	LB	\$12.97	\$4215-25

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### Extended Description:

HSS 6"X4"X3/16", GALVANIZED STRUCTURAL STEEL TUBING, (14.53#LF),ASTM 500 SHIP 1 PCS @22'-4 3/4" FABRICATED IN ACCORDANCE WITH SKETCH #4

	8 - 19248 A. A. State, 17 - 1947 A. L.	STATE BOARD STATE OF THE STATE	1 No. 1 of the Control of the Contro
DIVISION OF HIGHWAYS DISTRICT EIGHT 1101 NORTH RANDOLPH		DIVISION OF HIGHWA'DISTRICT EIGHT	
ELKINS	WV26241	ELKINS	WV 26241-1516
US		US -	

## RECEIVED TIME JAN. 27. 12:05PM

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
8	HSS 8"X4"X3/16",GALVANIZED STRUCTURAL STEEL TUBING	308.00000	LB	\$13.69	\$4216.52

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### Extended Description:

HSS 8"X4"X3/16", GALVANIZED STRUCTURAL STEEL TUBING, (14.53#LF),ASTM 500 SHIP 1 PCS @21'-2" FABRICATED IN ACCORDANCE WITH SKETCH #5

			and the state of t
DIVISION OF HIGHWAYS DISTRICT EIGHT		DIVISION OF HIGHWA	YS
1101 NORTH RANDOLPH AV	/E	PO BOX 1516, 1101 N	ORTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
9	HSS 8"X4"X3/16",GALVANIZED	494.00000	LB	\$3.75	\$1852.50
	STRUCTURAL STEEL TUBING				

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### Extended Description:

HSS 8"X4"X3/16", GALVANIZED STRUCTURAL STEEL TUBING, (14.53#LF),ASTM 500
SHIP 68 PCS @ 0'-6" FABRICATED IN ACCORDANCE WITH SKETCH #1

	CATED IN ACCORDANCE WITH		
DIVISION OF HIGHWAYS DISTRICT EIGHT		DIVISION OF HIGHWA	AYS
1101 NORTH RANDOLPH A	AVE	PO BOX 1516, 1101 N	ORTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
10	L4"X4"X1/2",GALVANIZED STRUCTURAL STEEL TUBING	576.00000	LB	\$3.00	\$1728.00

Comm Code	Manufacturer	Specification	Model #	
11101704				
petiti protes - Annat nation have been been to				

## Extended Description:

L4"X4X1/2",GALVANIZED STRUCTURAL STEEL ANGLE (12.8 #/LF),AASHTO M270, GRADE 50 SHIP 30 PCS @1'-6" FABRICATED IN ACCORDANCE WITH SKETCH #6

DIVISION OF HIGHWAYS
DISTRICT EIGHT

1101 NORTH RANDOLPH AVE

ELKINS

WV 26241

US

DIVISION OF HIGHWAYS
DISTRICT EIGHT

PO BOX 1516, 1101 NORTH RANDOLPH AVE

ELKINS

WV 26241-1516

US

Line	Comm Ln Desc	Qty	Unit issue	Unit Price	Total Price
11	L4"X4"X1/2",GALVANIZED STRUCTURAL STEEL TUBING	576.00000	LB	\$2.87	\$1653.12

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### Extended Description:

L4"X4X1/2",GALVANIZED STRUCTURAL STEEL ANGLE (12.8 #/LF),AASHTO M270, GRADE 50 SHIP 30 PCS @1'-6"

DIVISION OF HIGHWAYS DISTRICT EIGHT		DIVISION OF HIGHWAY	YS
1101 NORTH RANDOLPH	AVE	PO BOX 1516, 1101 NO	ORTH RANDOLPH AVE
ELKINS	WV26241	ELKINS	WV 26241-1516
us		us	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	3/4" X 6", GALVANIZED STRUCTURAL STEEL BAR	306.00000	LB	\$3.16	\$966.96

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### **Extended Description:**

3/4"X6", GALVANIZED STRUCTURAL STEEL BAR, (15.3#/LF), AASHTO M270, GRADE 50 SHIP 1 PC @20'-0"

	The state of the s		B. B. Company Recognition of the second seco
DIVISION OF HIGHWAY DISTRICT EIGHT 1101 NORTH RANDOLP		DIVISION OF HIGHWAYS DISTRICT EIGHT PO BOX 1516, 1101 NOR	
ELKINS	WV26241	ELKINS	WV 26241-1516
us		US	

# RECEIVED TIME JAN. 27. 12:05PM

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
13	7/8" X 6", GALVANIZED STRUCTURAL STEEL BAR	143,00000	LB	\$6.13	\$876-59

Comm Code	Manufacturer	Specification	Model #	
11101704				

#### Extended Description:

7/8" X 6", GALVANIZED STRUCTURAL STEEL BAR, (17.9 #LF) AASHTO M270, GRADE 50 SHIP 4 PC @2'-0"

CANCEL CARROLL STATES OF THE	A STATE OF THE STA	Comparate National Section	en juli stranger and entre (1 juli 2			
DIVISION OF HIGHWAYS DISTRICT EIGHT		DIVISION OF HIGHWA	DIVISION OF HIGHWAYS DISTRICT EIGHT			
1101 NORTH RANDOLPH AVE		PO BOX 1516, 1101 N	PO BOX 1516, 1101 NORTH RANDOLPH AVE			
ELKINS WV 26241		ELKINS	WV 26241-1516			
us		US				

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
14	3/4" X 6", GALVANIZED STRUCTURAL STEEL BAR	61.00000	LB	\$10.15	\$619.15

Comm Code	Manufacture <i>r</i>	Specification	# lebcM	
11101704				

#### Extended Description :

3/4"X6", GALVANIZED STRUCTURAL STEEL BAR (15.3 #/LF), AASHTO M270, GRADE 50 SHIP 2 PCS @2'-0"

7.00(E)12 电压力 (19.00 E)10 (10.00 E)						
DIVISION OF HIGHWAY	'S	DIVISION OF HIGHWA	ys			
1101 NORTH RANDOLPH AVE		PO BOX 1516, 1101 N	PO BOX 1516, 1101 NORTH RANDOLPH AVE			
ELKINS	WV26241	ELKINS	WV 26241-1516			
us		us				

Line	Comm Ln Desc	Qty	Unit lesue	Unit Price	Total Price
15	1/2" X 6", GALVANIZED STRUCTURAL STEEL BAR	204.00000	LB	\$3.81	\$777.24

Comm Code	Manufacturer	Specification	Model #	
11101704				

## Extended Description:

1/2" X 6", GALVANIZED STRUCTURAL STEEL BAR (10.2 #/LF), AASHTO M270, GRADE 50 SHIP 1 PC @20'-0"

### CERTIFICATIONAND SIGNATURE PAGE

By signing below, or submitting documentation through wvOASIS, I certify that I have reviewed this Solicitation in its entirety; understand the requirements, terms and conditions, and other information contained herein; that I am submitting this bid, offer or proposal for review and consideration; that I am authorized by the vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

est Virsinia steel (Company)

(Authorized Signature) (Representative Name, Title)

presentative Name, Title)

8 FAX 304-7558611

(Phone Number) (Fax Number) (Date)

# ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: DOT1500000028

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

# Addendum Numbers Received:

(Check the box next to each addendum received)

[ •	1	Addendum No. 1	[	]	Addendum No. 6
[ *	<b>/</b> j	Addendum No. 2	[	]	Addendum No. 7
Į	]	Addendum No. 3	Ĺ	]	Addendum No. 8
[	]	Addendum No. 4	ſ	J	Addendum No. 9
[	]	Addendum No. 5	[	J	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Company

Company

Authorized Signature

1 27 15

Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing. Revised 6/8/2012